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The table shows the lengths (in centimeters) and
swimming speeds (in centimeters per second) of six
fish.

Red
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The table shows the number of active red-cockaded
woodpecker clusters in a part of the De Soto National
Forest in Mississippi. Write an equation that models
the number of active clusters as a function of the
number of years since 1990.

Year

1992

1993

1994

1995

Active
clusters

22

24

27

27

Active clusters

Years since 1990
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Exercise #1: A biologist is studying the relationship between a tree’s diameter and its height. She

records the following data for 7 different trees.

Diameter
I:IIII:]:;‘,:[S] 2 3 4 5 V] 7 8
Height
(fect) g 10 16 17 22 20 29
s/
)4
/
/
/f
/
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